Whirlpool WFW97HEXL1 01 - TOP AND CABINET PARTS

ﬁ\ﬁd TOP AND CABINET PARTS AUTOMATIC
o For Models: WFWS7HEXW1, WFWSTHEXR1, WFWSTHEXL1 WASHER
(White) (Red) (Silver)

—{)
Lterature Parts

FOR ORDERING INFORMATION REFER TO PARTS PRICE LIST
8-11Printed in U S A (drd) (psw) 1 Part No W10360474 Rev A

Whirlpool Residential Whirlpool WEW97HEXL 1 Washer Parts Parts Diagram 01 - TOP AND CABINET PARTS
Click on the part number to view part

Item Original Part Number Replaced By Status Part Description
INSTALLATION
1 W10254447 Not Available INSTRUCTIONS
(ENGLISH/FRENCH)
" W10254448 Not Available 1~ T

INSTRUCTIONS (SPANISH)

" W10254491 Not Available USE & CARE GUIDE

(ENGLISH/FRENCH)
" W10254492 Not Available tJSSPiﬁlgﬁ)RE Sl
" W10254428 Not Available TECH SHEET
" W10254470 Not Available FEATURE BOOKLET
" W10254488 Not Available ENERGY GUIDE
2 W10208373 Top
" 10337799 Top
" W10316283 Top
3 W10237487 W10441110 Cabinet
" W10337793 Cabinet

" W10316281 Cabinet


http://www.pwslaundry.com/c-508946-residential-whirlpool-wfw97hexl1-washer-parts-for-repair-service
http://www.pwslaundry.com/i-10418148-whirlpool-w10208373-washer-top.html
http://www.pwslaundry.com/i-10418149-whirlpool-w10337799-washer-top.html
http://www.pwslaundry.com/i-10426850-whirlpool-w10316283-washer-top.html
http://www.pwslaundry.com/i-10427255-whirlpool-w10441110-washer-cabinet.html
http://www.pwslaundry.com/i-10418150-whirlpool-w10337793-washer-cabinet.html
http://www.pwslaundry.com/i-10426851-whirlpool-w10316281-washer-cabinet.html

20

21
22
23
24
25
26
27

28

29
30
31
32
33

34

35
36
37
38
39

W10208193

W10337800

W10316293
W10237503

W10306374

8540282
W10292620

W10339879
W10271986
W10374126

W10271590

W10237498
W10237492
W10142290
W10354386
W10305097
W10181028
W10326464

W10312527

W10251962
W10245452
W10237490

356138

W10280024
W10267638

W10326100

3351614

W10275820

8182700

W10208380
W10304004

W10194208
8571378

W10242307

W10298211
W10323182
W10001130

3359452
8540329

W10441112

8181661
W10389927

W10498442

W10434975

8540268

Panel, Front
Panel
Panel, Front

Retainer, Bellow To Front
Panel

Lock, Door

Screw, Actuator
Control-Elec

Tie, Cable

Harness, Wiring
Motor Control Unit
Bolt

Brace, Transport
Panel, Rear

Screw, 8-18 X 5/16
Brace, Rear

Screw, M4.1-1.8 X 57
Clip, Pressure Switch Hose
Filter, Interference

Switch, Analog Pressure
Sensor

Hose, Pressure Switch
Retainer, Spring
Brace, Top

Clamp, Hose

U-Bend, Drain Hose
Hose, Drain

Cord, Power

Screw, Gearcase Cover
Mounting

Cover, Power Cord- Transport
Cover, Transport

Screw, Bush Assembly
Cover, Power Cord
Hose-Inlet

Hose-Inlet

Washer Inlet-Hose
Miscellaneous Parts Must be
Ordered Separately.

Stud Assembly, Front Panel
Spacer, Front Panel

Foot, Leveling

Nut, Lock

Screw, 8-18 X 7/16


http://www.pwslaundry.com/i-10426852-whirlpool-w10208193-washer-panel-front.html
http://www.pwslaundry.com/i-10427739-whirlpool-w10441112-washer-panel.html
http://www.pwslaundry.com/i-10426853-whirlpool-w10316293-washer-panel-front.html
http://www.pwslaundry.com/i-10418151-whirlpool-w10237503-washer-retainer-bellow-to-front-panel.html
http://www.pwslaundry.com/i-10418152-whirlpool-w10306374-washer-lock-door.html
http://www.pwslaundry.com/i-10419973-whirlpool-8181661-washer-screw-actuator.html
http://www.pwslaundry.com/i-10427706-whirlpool-w10389927-washer-control-elec.html
http://www.pwslaundry.com/i-10420801-whirlpool-w10339879-washer-dryer-tie-cable.html
http://www.pwslaundry.com/i-10418153-whirlpool-w10271986-washer-harness-wiring.html
http://www.pwslaundry.com/i-10420955-whirlpool-w10374126-washer-motor-control-unit.html
http://www.pwslaundry.com/i-10423068-whirlpool-w10498442-washer-bolt.html
http://www.pwslaundry.com/i-10418155-whirlpool-w10237498-washer-brace-transport.html
http://www.pwslaundry.com/i-10418156-whirlpool-w10237492-washer-panel-rear.html
http://www.pwslaundry.com/i-10418157-whirlpool-w10142290-washer-dryer-screw-8-18-x-5-16.html
http://www.pwslaundry.com/i-10420957-whirlpool-w10354386-washer-brace-rear.html
http://www.pwslaundry.com/i-10418159-whirlpool-w10305097-washer-screw-m4-1-1-8-x-57.html
http://www.pwslaundry.com/i-10418160-whirlpool-w10181028-washer-clip-pressure-switch-hose.html
http://www.pwslaundry.com/i-10418230-whirlpool-w10326464-washer-filter-interference.html
http://www.pwslaundry.com/i-10420839-whirlpool-w10312527-washer-switch-analog-pressure-sensor.html
http://www.pwslaundry.com/i-10418162-whirlpool-w10251962-washer-hose-pressure-switch.html
http://www.pwslaundry.com/i-10418163-whirlpool-w10245452-washer-retainer-spring.html
http://www.pwslaundry.com/i-10418164-whirlpool-w10237490-washer-brace-top.html
http://www.pwslaundry.com/i-10418740-whirlpool-356138-washer-dryer-clamp-hose.html
http://www.pwslaundry.com/i-10418193-whirlpool-w10280024-washer-u-bend-drain-hose.html
http://www.pwslaundry.com/i-10418165-whirlpool-w10267638-washer-hose-drain.html
http://www.pwslaundry.com/i-10421435-whirlpool-w10434975-washer-cord-power.html
http://www.pwslaundry.com/i-10420788-whirlpool-3351614-washer-dryer-screw-gearcase-cover-mounting.html
http://www.pwslaundry.com/i-10417041-whirlpool-w10275820-washer-cover-power-cord-transport.html
http://www.pwslaundry.com/i-10419302-whirlpool-8540268-washer-cover-transport.html
http://www.pwslaundry.com/i-10418166-whirlpool-w10208380-washer-screw-bush-assembly.html
http://www.pwslaundry.com/i-10418167-whirlpool-w10304004-washer-cover-power-cord.html
http://www.pwslaundry.com/i-10421280-whirlpool-89503-washer-dryer-hose-inlet.html
http://www.pwslaundry.com/i-10421280-whirlpool-89503-washer-dryer-hose-inlet.html
http://www.pwslaundry.com/i-10420346-whirlpool-16123-washer-dryer-washer-inlet-hose-miscellaneous-parts-must-be-ordered-separately.html
http://www.pwslaundry.com/i-10418092-whirlpool-w10298211-washer-stud-assembly-front-panel.html
http://www.pwslaundry.com/i-10418093-whirlpool-w10323182-washer-spacer-front-panel.html
http://www.pwslaundry.com/i-10418737-whirlpool-w10001130-washer-dryer-foot-leveling.html
http://www.pwslaundry.com/i-10421595-whirlpool-3359452-washer-dryer-nut-lock.html
http://www.pwslaundry.com/i-10419868-whirlpool-8540329-washer-screw-8-18-x-7-16.html

	Whirlpool WFW97HEXL1 01 - TOP AND CABINET PARTS

